
43

46
45

46

47 55 47

47
484751

52
53

54

51 54

52
53

44

ECHO BIKE

IP0911-1



ECHO BIKE
PARTS LIST

Diagram # Description
43 Fan
44 Magnet
45 Fan Axle
46 Fan Axle Bearing 
47 Fan Axle Nut M12 x 1.25 
48 Fan Axle Spacer
51 Fan Axle M8 Lever Bolt 
52 Fan Axle U Shape Plate 
53 M8 Lock Nut 
54 Fan Axle M5 x10 Button Head Screw
55 Fan Axle Spacer

IP0911-1


